Case 5:18-md-02834-BLF Document 644-3 Filed 10/30/20 Page 1 of 449

## EXHIBIT 2



Α	В	С	D	E	F	G	Н	- 1	J	K	L
				<b>Hourly Rate</b>	<b>Hourly Rate Billed</b>						
	Invoice Number	Timekeeper		Billed	Total	Discount to 85%	Description	ı	J	K	L
		Saina Shamilov					Research best way to defend Amazon				
018	698241		1.50	\$730.00	\$1,095.00	\$931.41	customers sued by Personal Web.				
		Todd Gregorian					Research and analysis re: declaratory				
							judgment complaint and preliminary				
018	698241		2.50	\$680.00	\$1,700.00	\$1,446.02	injunction motion.				
		Phillip Haack									
							Prepare client memorandum re:				
018	698241		5.80	\$680.00	\$3,944.00	\$3,354.77	recommendation for PersonalWeb cases.				
		J. David Hadden									
							Reviewed new complaints; interoffice				
							conference and e-mails with client re: strategy				
018	698241		1.30	\$915.00	\$1,189.50	\$1,011.79	to get customer cases dismissed.				
		Saina Shamilov					Review PersonalWeb's complaint against				
018	698241		1.00	\$730.00	\$730.00	\$620.94	Amazon customers.				
		Todd Gregorian					Research and analysis re: declaratory				
							judgment complaint and preliminary				
2018	698241		7.30	\$680.00	\$4,964.00	\$4,222.38	injunction motion.				
		Phillip Haack									
							Prepare client memorandum re:				
2018	698241		4.20	\$680.00	\$2,856.00	` '	recommendation for PersonalWeb cases.				
2018	698241	J. David Hadden	0.30	\$915.00	\$274.50	\$233.49	Interoffice e-mails re: strategy.				
		Todd Gregorian									
							Work on declaratory judgment complaint and				
2018	698241		6.20	\$680.00	\$4,216.00	\$3,586.13	preliminary injunction motion.				
		Phillip Haack									
							Prepare client memorandum re:				
2018	698241		2.40	\$680.00	\$1,632.00	\$1,388.18	recommendation for PersonalWeb cases.				
		Saina Shamilov					Review research and draft regarding ways to				
2018	698241		2.10	\$730.00	\$1,533.00	\$1,303.97	defend customer sued by PersonalWeb.				
		Todd Gregorian									
							Work on declaratory judgment complaint and				
2018	698241		4.30	\$680.00	\$2,924.00	\$2,487.15	preliminary injunction motion.				
							Prepare declaratory judgment complaint,				
	500045	Phillip Haack					analyze legal issues relating to preclusion of				
2018	698241		4.40	\$680.00	\$2,992.00	\$2,545.00	prior claims for same.				$oxed{oxed}$

Α	В	С	D	E	F	G	Н	I	J	K	L
				Hourly Rate	<b>Hourly Rate Billed</b>						
	Invoice Number	Timekeeper		Billed	Total	Discount to 85%	Description	ı	J	K	L
2018	698241	J. David Hadden	0.80	\$915.00	\$732.00	\$622.64	Interoffice conference and e-mail to client re: proposed declaratory judgment action.			<u> </u>	
2018	698241	Elizabeth Hagan	0.30	\$620.00	\$186.00	\$158.21	Discuss strategy re: motion for preliminary injunction against PersonalWeb with team.		Т	L	
2018	698241	Chieh Tung	6.50	\$385.00	\$2,502.50	\$2,128.63	Strategize for and draft complaint for declaratory judgment.				
2018	698241	Phillip Haack	0.80	\$680.00	\$544.00	\$462.73	Prepare declaratory judgment complaint; analyze legal issues relating to preclusion of prior claims for same.			<u> </u>	
2018	698241	Elizabeth Hagan	9.20	\$620.00	\$5,704.00	\$4,851.82	Draft motion for anti-suit preliminary injunction against PersonalWeb.			<del></del>	
2018	698241	Phillip Haack	3.50	\$680.00	\$2,380.00	\$2,024.43	Revise declaratory judgment complaint; analyze legal issues relating to preclusion of prior claims for same.			<u> </u>	
2018	698241	Phillip Haack	1.40	\$680.00	\$952.00	\$809.77	Revise declaratory judgment complaint; discuss same with team.		Т	<u></u>	
2018	698241	Elizabeth Hagan	1.70	\$620.00	\$1,054.00	\$896.53	Revise motion to enjoin customer suits by PersonalWeb.			<u> </u>	
2018	698241	Chieh Tung	8.30	\$85.00	\$3,195.50	\$2,718.09	Revise complaint for declaratory judgment and research supporting case law.			<u> </u>	
2018	698241	Todd Gregorian	3.00	\$680.00	\$2,040.00	\$1,735.22				L	
2018	698241	Phillip Haack	5.70	\$680.00		. ,	Revise declaratory judgment complaint; discuss same with team.		Т	<b></b> _	
2018	698241	J. David Hadden	0.30	\$915.00	\$274.50	\$233.49	Reviewed new claim preclusion case. Revise motion to enjoin PersonalWeb's				-
2018	698241	Elizabeth Hagan	1.90	\$620.00	\$1,178.00	\$1,002.01	customer suits.				
2018	698241	Chieh Tung	2.50	\$385.00	\$962.50	\$818.70	Revise complaint for declaratory judgment and research supporting case law.			<u> </u>	
2018	698241	Todd Gregorian	8.40	\$680.00	\$5,712.00	\$4,858.63	Work on declaratory judgment complaint.				
2018	698241	Phillip Haack	1.10	\$680.00	\$748.00	\$636.25	Revise declaratory judgment complaint; discuss same with team.		Т		

Α	В	С	D	E	F	G	Н	I	J	K	<u>L</u>
				Hourly Rate	Hourly Rate Billed			_			
	Invoice Number	Timekeeper		Billed	Total	Discount to 85%	•	ı	J	K	L
2018	698241	Chieh Tung	0.80	\$385.00	\$308.00	\$261.98	Revise complaint for default judgment.				_
		Chieh Tung					Research case law to support complaint for				
2018	698241	- C	1.90	\$385.00	\$731.50	\$622.21	declaratory judgment.				
		Todd Gregorian					Work on declaratory judgment complaint and				
2018	698241		2.50	\$680.00	\$1,700.00	\$1,446.02					
							Revise declaratory judgment complaint;				
2018	698241	Phillip Haack	5.70	\$680.00	\$3,876.00	\$3,296.93	discuss same with team.		Т		_
							Research privity of customers for claim				
							preclusion purposes in the Ninth Circuit for				
							declaratory judgment complaint and motion				
2018	698241	Elizabeth Hagan	3.00	\$620.00	\$1,860.00	\$1,582.12	to enjoin customer suits.				
2018	698241	Saina Shamilov	6.30	\$730.00	\$4,599.00	\$3,911.91	Prepare declaratory judgment complaint.				
		Chieh Tung					Research case law to support complaint for				
2018	698241		3.30	\$385.00	\$1,270.50	\$1,080.69	declaratory judgment.				_
		Todd Gregorian									
							Work on declaratory judgment complaint;				
2018	698241		4.00	\$680.00	\$2,720.00	\$2,313.63	interoffice conferences re: same.				
							Revise declaratory judgment complaint;				
2018	698241	Phillip Haack	5.10	\$680.00	\$3,468.00	\$2,949.88	discuss same with team.		Т		
2018	698241	J. David Hadden	1.20	\$915.00	\$1,098.00	\$933.96	Drafted declaratory judgment complaint.				
							Draft attorney declaration in support of				
2018	698241	Elizabeth Hagan	0.70	\$620.00	\$434.00	\$369.16	motion to enjoin customer suits.				
		Chieh Tung					Perform research to support complaint for				
2018	698241	chien rung	0.60	\$385.00	\$231.00	\$196.49	declaratory judgment.				
							Revise declaratory judgment complaint;				
2018	698241	Phillip Haack	0.90	\$680.00	\$612.00	\$520.57	discuss same with team.		T		
		Todd Gregorian					Work on declaratory judgment complaint and				
2018	698241		3.70	\$680.00	\$2,516.00	\$2,140.11					
							Revise declaratory judgment complaint;				
2018	698241	Phillip Haack	2.00	\$680.00	\$1,360.00	\$1,156.82	discuss same with team.		T		
							Revise motion to enjoin PersonalWeb's				
2018	698241	Elizabeth Hagan	2.80	\$620.00	\$1,736.00	\$1,476.64	customer suits.				
2018	698241	Saina Shamilov	3.30	\$730.00	\$2,409.00	\$2,049.10	Draft declaratory judgment complaint.				
2018	698241	Saina Shamilov	3.40	\$730.00	\$2,482.00	\$2,111.19	Draft declaratory judgment complaint.				

Α	В	С	D	E	F	G	Н	I	J	Κ	L
				<b>Hourly Rate</b>	<b>Hourly Rate Billed</b>						
	Invoice Number	Timekeeper		Billed	Total	Discount to 85%	Description	I	J	K	L
		Todd Gregorian					Work on declaratory judgment complaint;				
							interoffice conferences re: same; transmit to				
2018	698241		0.80	\$680.00	\$544.00	\$462.73	client.				
							Revise declaratory judgment complaint;				
2018	698241	Phillip Haack	0.50	\$680.00	\$340.00	\$289.20	discuss same with team.		T		
2018	698241	J. David Hadden	0.50	\$915.00	\$457.50	\$389.15	Drafted complaint.				
							Draft complaint for declaratory judgment;				
							review cases for same, review personal web				
							infringement contentions against Amazon for				
2018	698241	Saina Shamilov	4.20	\$730.00	\$3,066.00	\$2,607.94		I			
		Todd Gregorian					Respond to client inquiry re: 2011				
2018	698241		0.20	\$680.00	\$136.00	\$115.68	PersonalWeb case.				
2018	698241	Phillip Haack	2.10	\$680.00	\$1,428.00	\$1,214.66	Revise declaratory judgment complaint.				
							E-mails re: infringement theory in current				
2018	698241	J. David Hadden	0.40	\$915.00	\$366.00	\$311.32	customer suits.	I			
							Revise motion to enjoin PersonalWeb's				
2018	698241	Elizabeth Hagan	0.20	\$620.00	\$124.00	\$105.47	customer suits.				
2018	698241	Saina Shamilov	1.30	\$730.00	\$949.00	\$807.22	Draft declaratory judgment complaint.				
2018	698241	Todd Gregorian	5.70	\$680.00	\$3,876.00	\$3,296.93	Work on preliminary injunction motion.				
		Chieh Tung					Analyze venue implications for filing a				
2018	698241	Chieff rung	0.10	\$385.00	\$38.50	\$32.75	declaratory judgment.				
		Todd Gregorian					Email to client re: multi-district litigation				
018	698941		0.20	\$680.00	\$136.00	\$115.68	strategy.				
		Todd Gregorian									
							Attention to legal issue regarding standing on				
018	698941		0.30	\$680.00	\$204.00	\$173.52	declaratory judgment complaint.				
018	698941	Phillip Haack	1.40	\$680.00	\$952.00	\$809.77	Revise motion for preliminary relief.				
							Reviewed emails re: declaratory judgment				
018	698941	J. David Hadden	0.20	\$915.00	\$183.00	\$155.66	venue.				
									Į.		
							Review summary of scheduling conference				
							from local counsel; draft note to client re:				
							same; draft note to client re: proposed multi-				
							district litigation consolidation; interoffice				
018	698941	Ravi Ranganath	0.60	\$630.00	\$378.00	\$321.53	conference re: same.				

# DOCKET

## Explore Litigation Insights



Docket Alarm provides insights to develop a more informed litigation strategy and the peace of mind of knowing you're on top of things.

## **Real-Time Litigation Alerts**



Keep your litigation team up-to-date with **real-time** alerts and advanced team management tools built for the enterprise, all while greatly reducing PACER spend.

Our comprehensive service means we can handle Federal, State, and Administrative courts across the country.

## **Advanced Docket Research**



With over 230 million records, Docket Alarm's cloud-native docket research platform finds what other services can't. Coverage includes Federal, State, plus PTAB, TTAB, ITC and NLRB decisions, all in one place.

Identify arguments that have been successful in the past with full text, pinpoint searching. Link to case law cited within any court document via Fastcase.

### **Analytics At Your Fingertips**



Learn what happened the last time a particular judge, opposing counsel or company faced cases similar to yours.

Advanced out-of-the-box PTAB and TTAB analytics are always at your fingertips.

#### API

Docket Alarm offers a powerful API (application programming interface) to developers that want to integrate case filings into their apps.

#### **LAW FIRMS**

Build custom dashboards for your attorneys and clients with live data direct from the court.

Automate many repetitive legal tasks like conflict checks, document management, and marketing.

#### **FINANCIAL INSTITUTIONS**

Litigation and bankruptcy checks for companies and debtors.

### **E-DISCOVERY AND LEGAL VENDORS**

Sync your system to PACER to automate legal marketing.

